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Problem #3.2.

This code fragment finds the element that occurs the most number of times in an array by returning the number of times the element is repeated in $v0 and the value in $v1.
Problem 3.14.
Of the four Instruction Categories, all involve at least a single memory transfer to fetch the instruction. Only data transfer instructions involve an additional memory transfer.
a) All involve an initial transfer for instructions (100) and data transfers involve an additional access for data (33). Total is 133 memory transfers and the percentage for data only is

33/133 = 24.8%

b) All involve a memory read for the instruction (100) while only 22 of the 33 data transfers involve a memory read. So,
122/133 = 91.9% of memory accesses are for reads.
